Untitled.notebook

April 30, 2021

L.O. T can answer arithmetic questions accurately and at speed.

Year 3
500 - 200
9x?2

400 + 424
Double 30
4,812, __,
400 + 662
Half of 40
500 x 1
590 + 445
658 - 379
Ox8
60+30+5
339+ 721

How many days in a year?

Year 4

5,789 - 1,997

6x6x2

5149 x 4

Double 38

4 485 to the nearest 100
7 479 + 658

Half of 42

500 x 1

595 + 685

6 547 + 1,000

0 x 85

67 + 30 + 59

4 085 to the nearest 10

How many days in January?
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Answers

Year 3

500 - 200 = 300
Ox2=18

400 + 424 = 824
Double 30 = 60

4 8 12 16, 20
400 + 662 = 1,062
Half of 40 = 20
500 x 1 = 500
590 + 445 =1035

658 - 379 =279
0x8=0
60+30+5=95

339 +721=1,060

How many days in a year? 365

April 30, 2021

Year 4

5,789 -1997 = 3,792
6x6x2=72

5,149 x 4 = 20,596

Double 38 = 76

4 485 to the nearest 100 = 4 500
7479 + 658 = 8,137

Half of 42 = 21

500 x 1 =500

595 + 685 =1,280

6,547 + 1000 = 7 547
0x85=0

67 + 30 + 59 = 156

4 085 to the nearest 10 = 4,090

How many days in January? 31
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